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(1) ROHERMAHKY LD Z LR RLEX D,
c0s30 = 4cos® O — 3cos O

(2) cosbd® D% kb7 X,
(3) HREELE OMEED r OIERAIEOHEZ RKOZ I\,
(1) no:kEIE &Y,

cos(0+28) = cos@cos28 —sinBsin 20
058 (2c0526~1) = 2cos9 (1~ cos?0)
4.c05%6 ~ Jcos 0
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" oS 36 = 4cos’0 —3cos6 MWANILD

(2 9=54" &<k, 56=270°rY,
sin (50— 38) = —cos5 30
Jihh, sin 260 = — cos 38
5ih 26 = 2sin@cosQ & (NARER £(TALT,
2sinBcos B = —4cos?p + 3cosh
. cos0 (25in@t+4cos?0-3) =0

cos @ (4sin?0 ~2sin0=1) =0

+
cos® >0, sin®@>0dY, SinB= 14ﬁ
5in%@ + cos*@ ={ &1), cos0 = ‘JI‘O-Z{'E'
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